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Por ser un sistema axialmente rigido, la matriz de rigidez para cada elemento es:

4FEI 2FEI

L L |_2EI[21
2FEI 4EI|” I |12

L L



k1:2E11. 2 1] _[0.667 0.333
L1 12| [0.333 0.667
k3_:2EI3. 2 1]_[0.8 0.4
L3 12 0.4 0.8
k1 k1l 0 0 0 0
1,1 1,2
k1 k1 0 0 0
2,1 2,2
0 0 k2 k2 0 0
e 1,1 1,2
1o 0 k2 k2 0 0
2,1 2,2
0 0 0 0 k3 k3
1,1 1
0 0 0 0 k3 k3
2,1 2

1.615 0.474 0.167
K:=A".k.-A=|0.474 1.749 0.12
0.167 0.12 0.08

_2EI2

|

0.949 0.474
0.474 0.949

[0.667 0.333 0 0 0 0
0.333 0.667 0 0 0 0
0 0 0.949 0.474 0 0
0 0 0.474 0.949 0 0
0 0 0 0 0.8 0.4
0 0 0 0 0.4 0.8




